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Q1 a) With the help of a diagram show the second-best nature of commodity
taxation in a two-good economy (with a single consumer and single firm) that
has a revenue requirement of R. Show who bears the burden of tax in this

model and why.(9.75)

b) Explain how welfare gains arise from multiple fiscal units. How do individuals

vote by their feet? (9)
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Q2 a) A per unit specific tax ‘1’ is levied on the consumption of a good x.

Demonstrate the incidence of tax in the following cases:

(i) Relatively inelastic demand curve and perfectly elastic supply curve.

(i) Relatively elastic demand curve and perfectly inelastic supply curve.

(iii)  Perfectly inelastic demand curve and relatively elastic supply curve.
(3+3+3=9)

b) The source of market inefficiency is the divergence between private and
social benefits (costs). How can we eliminate such divergence through

Pigouvian taxation? Use diagram to support your answer. (9.75)
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Q3 a) Consider two consumers with the following demand functions for a public

good ‘G’

P, = 10- (1/10).G



P, = 20- (1/10).G ,
Where p; is the price that individual V' is willing to pay for quantity ‘G’

i. What is the optimal level of public good if the marginal cost is $25

ii. Suppose the marginal cost of the public good is $ 5, What is the optimal
level of public good?

iii. Suppose the marginal cost of the public good is $40. What is the optimal
level? Should the consumer make an honest statement of their demand
functions?

(3+3+3=9)

b) How is lump sum tax different from per unit commodity tax? Compare
between a lump- sum tax and a commodity tax on a good when the two tax
instruments raise the same level of revenue. Explain your answer in terms of
income and substitution effect and the deadweight loss. Use diagram to support

your answer. (9.75)
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Q4 a) A smoker and a non-smoker work together in an office. The smoker get
daily marginal benefits of (24-x) where x is the number of cigarettes smoked
each day. The-non-smoker incurs marginal damage of 2x each day from smoke

inhalation.
(i) What is the socially optimal level of smoke?

(i)  The employer strongly favors incentives to regulations. What incentive

would she apply to achieve the best possible amount of smoking? Explain.

(iv) A local company is advertising a new air filter machine that is
guaranteed to remove 50% of cigarette smoke from a room. How would
such a machine affect the socially optimal smoking rate and tax?

(3+3+3=9)

b) Sarvar Allam critically assessed Goods and Services tax (GST). Explain his

point of view on this new regime. (9.75)
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Q5 a) Explain with the help of an economic model where the cost of supplying
a public good can vary, how lack of information available to the voters enables
the government to grow larger by increasing the tax burden. What incentives
can be set to encourage the government to work better and to cost less?

(9.75)

b) Compare the tax schedule and the average and marginal tax rates of a
proportional and a progressive flat rate income tax. Support your answer with a
diagram. Explain the diagrammatic analysis of the deadweight loss of

progressive taxation. (9)
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Q6 a) How does the tragedy of commons arise from the common rights to a

resource? Explain with the help of a diagram. (9.75)

(b) What are the highlights of fourteenth finance commission report on vertical

and horizontal balances and grants in aid? (9)
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